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- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
= 000
Al 1,000
301 Bt A= 1,000 0 1,000
2 500
Al 500
12 JIEtE2 A= 1,000 0 1,000
el 2w 2AIS 1,000,000 1,000
= 500
Al 500
SHAMA A3t 855,169 447 666 407,503
=2 27,500
= 26,923
Al 800,746
SOIH LAY 855,169 447 666 407,503
= 27,500
& 26,923
Al 800,746
SsIIH =& %2l 25,000 25,000 0
206 M = Hl 25,000 25,000 0
01 24 25,000 25,000 0
[ DRSS DNE BN S 5,000,000& 5,000
Os)lHl=3x2 E3ME 20,000,000 20,000
SIIH LUAIE A 2H 535,400 410,666 124,734
101 Q124 H| 27,000 49,266 N 22,266
03 RIHE*ZZXHE = 2,000 1,500 500
O=s)H 22 &A= 2,000,000 2,000
04 JI2tHI22XNSE S 25,000 47,766 N22,766
SOIH LUAIE sI1H EHIRE 25,000
oJlea 6,800& *1H 25,000,000 25,000
201 gEt24H | 88,400 91,400 A 3,000
01 AP 22| d| 23,400 24,400 A 1,000
OBt 2H| 20,000
0 AIRA 2E2AHd| 2,000,000& 2,000
o 2l sJHRE € JEIREUHE
2,000,000& 2,000
o sJIH LUAZEE BotdH & 249
12,000,000 12,000
o UHAY HE AEIH 2IES HE
4,000,000& 4,000
O2g4+¢ 1,400
o SOIHARRAS 2g94E 1,400,000& 1,400
OI 2| 2,000
o sJIH &HE=E 2,000,000& 2,000




N sEXNZ D
HE: SR 23
S SIIH LA (&)
5 - 4
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
02 3322l 65,000 67,000 A 2,000
OZZ23LHA 45,000,000& 45,000
OA & EH R X 20,000,000& 20,000
206 M= Hl 70,000 70,000 0
01 =8l 70,000 70,000 0
O=sJIH 23 7¢ 70,000,000& 70,000
405 XHoHE S HI 350,000 200,000 150,000
01 AL EZFH S 350,000 200,000 150,000
OLUEHI(ESXHE 2 65)72 350,000,000& 350,000
sSIIH ¥ NE XN (EX) 16,000 12,000 4,000
= 8,000
Al 8,000
201 Let24d] 1,400 0 1,400
= 700
Al 700
01 At 2teltl 1,400 0 1,400
[ DN a= 1,400
o sgIAHNE Xt Xt 1,400,000& 1,400
= 700
Al 700
202 oddl 3,000 3,000 0
= 1,500
Al 1,500
01 = LH o4 1l 3,000 3,000 0
O8I HRE Kl 3,000,000& 3,000
= 1,500
Al 1,500
206 M= Hl 10,000 6,000 4,000
= 5,000
Al 5,000
01 = Hl 10,000 6,000 4,000
O=sJH 23 7¢ 10,000, 000& 10,000
= 5,000
Al 5,000
301 L2 A F 1,600 3,000 21,400
= 800
Al 800
09 HALAHIEA S 1,600 3,000 A 1,400
Os2JIHuE 8T E43 1,600,000 1,600
= 800
Al 800
NEE =9I XNIA(Ex) 39,000 0 39,000
= 19,500
Al 19,500




2N sEXNI L
HE: SR 23
G2 sIIH LAY (2 &HH)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
405 XHA&HF S HI 39,000 0 39,000
2 19,500
Al 19,500
01 AL 2 ZF S| 39,000 0 39,000
oOosg222 0 (&I L) 20,000,000 20,000
2 10,000
Al 10,000
O2LED|(EM,EM,2 ) 19,000,000& 19,000
2 9,500
Al 9,500
SOHLYUAIES A “SEHH UMK (EX) 89,769 0 89,769
= 26,923
Al 62,846
405 XHo&HF S HI 89,769 0 89,769
o= 26,923
Al 62,846
01 XAt 2 FF S| 89,769 0 89,769
SOIHAUWAL A =S EE A
89,769,000 89,769
= 26,923
Al 62,846
SOIH LUHAIE A A 29 150,000 0 150,000
401 Al HI L 2 0HHI 150,000 0 150,000
01 Al&H| 150,000 0 150,000
OsJIH dUHAIEA AEEA AX0 OE (P
)8 BAHX A A 150,000,000 150,000
HOHdR & 163,560 131,080 32,480
= 67,960
= 3,600
Al 92,000
SAUFANE 163,560 131,080 32,480
= 67,960
=} 3,600
Al 92,000
AMOIHs A0l e-HIELIA ASRE X (BX) 8,000 7,000 1,000
= 4,000
Al 4,000
201 et 9| 2,000 1,500 500
= 1,000
Al 1,000
01 AP 2t 2] H| 2,000 1,500 500
Qe-HELA ASESFUE 2,000,000& 2,000
= 1,000
Al 1,000
301 et A= 6,000 5,500 500




2N sEXNAAL
M Hoop 8
Sel SUAYN S (S &2)
SN EB S (3H) - NEAY - BES ofl &k o San HDE2
= 3,000
Al 3,000
12 JIEtE &2 6,000 5,500 500
QOe-HlZLA ASEHENE ZAIE
6,000,000 6,000
= 3,000
Al 3,000
SAMNSASETAIEA(EX) 9,360 7,080 2,280
= 9,360
202 04 d| 3,120 2,360 760
= 3,120
01 2L Y| 3,120 2,360 760
OsME ASEXAF 24 b 3,120,000& 3,120
= 3,120
301 dEtE A= 6,240 4,720 1,520
= 6,240
12 JIEtE &2 6,240 4,720 1,520
OsNZE ASEA sIHAHE 2 6,240,000& 6,240
= 6,240
dis 24 N (BX) 48,000 48,000 0
= 24,000
Al 24,000
201 LBt A | 20,000 14,000 6,000
= 10,000
Al 10,000
01 AtSR 22l ] 10,000 4,000 6,000
O =2H| 10,000
odars B ERFA 10,000, 000& 10,000
= 5,000
Al 5,000
03 A2 EH| 10,000 10,000 0
OLi=s 4 gRFA 10,000,000 10,000
= 5,000
Al 5,000
301 et A= 6,000 6,000 0
= 3,000
Al 3,000
09 HAIAH EA= 6,000 6,000 0
OLdA=s0E 8L BA43 6,000,000& 6,000
= 3,000
Al 3,000
307 212t0| & 22,000 22,000 0
= 11,000
Al 11,000
05 QIZtR &2 22,000 22,000 0
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2N sEXNEY
Hu: HoD BE
Sl SYAYXE CERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
04 JIZHHZ2XREES 10,000 10,000 0
O=sZII=823 DB oAbl 10,000, 000& 10,000
= 4,000
Al 6,000
HU=gol AU HAHLE (BX) 7,200 0 7,200
= 3,600
Al 3,600
202 044l 6,200 0 6,200
= 3,100
Al 3,100
01 SLHOIYI 6,200 0 6,200
OBESY0 FYNGSHASLY L HY &F
o4 bl 6,200,000& 6,200
= 3,100
Al 3,100
301 et a = 1,000 0 1,000
= 500
Al 500
12 JIEE43 1,000 0 1,000
OFES0 AYNGSHALY L HY 24
= 1,000, 000& 1,000
= 500
Al 500
=g2d 248 XA 30,000 0 30,000
= 18,000
< 3,600
Al 8,400
307 glz2+0l & 30,000 0 30,000
= 18,000
< 3,600
Al 8,400
02 YAFHAANGFEX 30,000 0 30,000
O33N BEAL4E N& 30,000,000& 30,000
= 18,000
< 3,600
Al 8,400
HE2LAZH (sEXJA ) 28,200 24,600 3,600
Jl2dt(sEX& ) 28,200 24,600 3,600
J2dHl(sEX& 1) 28,200 24,600 3,600
202 (44l 24,000 20,400 3,600
01 SLHOIYI 24,000 20,400 3,600
OSE&Z 0l 100,000& 20 x123] 24,000
203 YR =2l 4,200 4,200 0
04 FENSEHR=LH 4,200 4,200 0
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SN sENRDY
MY B2 AAH (SEXNED) )
¢ J2dbl(sEX21) (Sl & &)
i _ . SJEN-
SN EH - (EH) - HRAY - BES 0] &k o4 i Hl D2
O=sZEXJ 350,000& =128

4,200




